S HED
Hu: NENE SH5(UBTIUI/NYHT
ool OIEE N4 e

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
MIE ot 24,663,077 29,011,290 A4,348,213
= 1,138,374
== 23,524,703
NFEHE ss(Lets3dE /ML - HEXE) 24,626,792 28,975,954 N4,349,162
= 1,138,374
= 23,488,418
CHE A M= &2 24,626,792 28,975,954 A4,349,162
= 1,138,374
=S 23,488,418
MHETEE M1 415,035 259,220 185,815
201 er23 | 10,000 10,000 0
01 At2tltl 10,000 10,000 0
OXNgANE 29 1,820
OXZAH & M2+ 2Atdl €HU2 1,000
ot 23 1,200
SSHAHEE X3 4,200
OdAGMA SN, HEE MH 1,780
202 04l 14,260 12,000 2,260
01 =LHOHI 14,260 12,000 2,260
OXNZH=-=SU & XLA 28 8% XN= 14,260
303 Za=s 45,000 50,000 /5,000
01 2= 45,000 50,000 /5,000
OXIgA & M+ 28 SEEIL 45,000
306 EG= 213,999 185,820 28,179
01 9= 213,99 185,820 28,179
OXNSNARA EA 213,999
308 AHXIEMSOIH 130,376 130,376
18 SIS0t & A AS A 130,376 130,376
OXNFNA+LEFEAAE S22/ 38,491
OXNZMEE 2 & RAl2el 91,885
405 AtaHE = 1,400 1,400
02 =M=l 1,400 1,400
OXZAN &AM 7 1,400
CHY ExEazs s = 70,000 50,000 20,000
303 Za= 70,000 50,000 20,000
01 2= 70,000 50,000 20,000
OZAHY E==ZasH 29 70,000
S38t AN2A FHHE 29 13,120 13,000 120
201 eer23y| 12,400 12,400
01 AtR2t2lHI 12,400 12,400
OXIZAAS L IRPAAL /AR =& 12,400
202 04| 720 600 120
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2A:

AIE

M NEGR SE(YUDIHT/TLHE - WEY)
s oMYA N 2 CEREED
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
01 =LHAHI 720 600 120
OXZAl 01248 S 2et X2 720
druls K& 22,839,882 26,976,000 N4,136,118
308 AHXIEHMSOIE 22,839,882 26,976,000 4,136,118
02 d+=u2s 22,839,882 26,976,000 A4,136,118
OZM =12 = 22,839,882
NIRZEAL =& 27,600 23,000 4,600
202 044l 27,600 23,000 4,600
01 =LA LI 27,600 23,000 4,600
OXIZAl LEAIR A 15,600
OXZAH SENREA 8,000
OAlZ N2XZ 84 4,000
KAl HESHA S =& 10,800 12,000 1,200
201 L= 10,800 12,000 1,200
01 AFS2t2ltl 10,800 12,000 A1,200
OHE L JIEI2AH AINEEN It HME 10,800
HE = DIAZAl X2 (21) 1,138,374 1,147,390 A9,016
= 1,138,374
308 XXIHMSOIA 1,138,374 1,147,390 9,016
= 1,138,374
01 HXSHH B E2ES 1,138,374 1,147,300 9,016
OHNE=EIHA 2 - SAl HIE 1,138,374
= 1,138,374
KEAl Mg2el =& 3,600 3,000 600
202 044l 3,600 3,000 600
01 =LHO LI 3,600 3,000 600
Ok - ANz &= His# ZXI, It 1,800
OAZ XNE=EH 1,800
DAL 2H 29 108,381 402,344 A\383,963
201 L= 90,000 481,000 A391,000
01 AFS2t2ltl 90,000 481,000 A391,000
OHAdIS 7e « tisHl, =2 & 90,000
202 044l 3,000 3,000
01 =LA LI 3,000 3,000
OLSAIIFH E2 & 2 2 3,000
308 XXM SO0IA 15,381 8,344 7,037
183 S 2SS & HASAIE 15,381 8,344 7,037
OSEEHEAIAHE 23 2 KA2c 15,381
HH2SZHI(ME D) (O1EHIIEH 36,285 35,336 949
[=&hl 36,285 35,336 949
FA2E Jl=3Hl 36,285 35,336 949
201 Zet2 & 22,585 22,586 A1
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SA A D
. HY2IZHI(ME) (OIEHIIE
el JI=23 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 At2teltl 22,585 22,586 A
ORAMEY AtR2elH] 22,585
202 04l 9,500 8,550 950
01 =LHOHI 9,500 8,550 950
SEAEE U 9,500
203 =4l 4,200 4,200
M FA2SHIFII 4,200 4,200
©2521 0lat 4,200
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